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Prime Factorization Trees

Use the number trees to find the prime factors of each number. 

20 =

20

3 x27 =

27

63 =

63

75 =

75

68 =

68

52 =

52

45 =

45

42 =

42

99 =

99
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Answers

Use the number trees to find the prime factors of each number. 

2 x 2 x 520 =

20

2 5

102

3 x 3 x 327 =

27

3 3

93

3 x 3 x 763 =

63

3 7

213

3 x 5 x 575 =

75

3 5

155

2 x 2 x 1768 =

68

2 17

342

2 x 2 x 1352 =

52

2 13

262

3 x 3 x 545 =

45

3 5

153

2 x 3 x 742 =

42

3 7

212

3 x 3 x 1199 =

99

3 11

333


